
<latexit sha1_base64="5MJBMvt1BLBWgYAY0U61/hcQu0M="></latexit>a0
<latexit sha1_base64="GDzLNsPkEcmC0sy8B+a+14BU0Oo="></latexit>x<latexit sha1_base64="FzylTIKNeIC3nIz68R/U/8Qn+mM="></latexit>a2

<latexit sha1_base64="PxGpIyB1SWsqY7PWHKML5OHsT7A="></latexit>

T1,2 < 0
<latexit sha1_base64="sPVolK/qnFc5uOTF5RO5UBnCcLU="></latexit>

T0,1 > 0

<latexit sha1_base64="89StF6GqA8LnFegTW9qX+PDrWOk="></latexit>a1
<latexit sha1_base64="DsSgLDCj+Se1FYyZuyIP6y7c4Qs="></latexit>

x1(t)

<latexit sha1_base64="vIj50mVS3YJEp/wIsVll6qc/hos="></latexit>

⇠1(t)

<latexit sha1_base64="HNLt/P/QsAQ2B3zWRBBM4CCT6lY="></latexit>a

<latexit sha1_base64="IOsluY+mph51Au0w4b36HtXJM+4="></latexit>

F�
1 + F+

1

<latexit sha1_base64="YOlzj2KLIEYxYuzgB9xdlcut1xs="></latexit>

�m2

<latexit sha1_base64="vIj50mVS3YJEp/wIsVll6qc/hos="></latexit>

⇠1(t)

<latexit sha1_base64="vIj50mVS3YJEp/wIsVll6qc/hos="></latexit>

⇠1(t)


